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[Type text] 1     (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 
 

 

   
 
 

ehd;F (04) fl;lha tpdhf;fs; 
(nkhj;jk; 20 Gs;spfs;) 

 

tpdh 01 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 7 : njhopw;gL %yjd Kfhikj;Jtk; 

(a) 
 

    2023/24 

njhf;F ,Ug;Gf; fhyk; (364+315)/2/1,239*365 100 

tpahghu tUkjp; Nrfupg;Gf; fhyk; 365/2.5 146 

    246 

(-) tpahghu nrd;kjpj; jPu;g;gdTf; fhyk;   (110) 

njhopw;gL %yjdr; Rw;Wf; fhyk;( ehl;fspy;)   136 

 
       (03 Gs;spfs;) 

(b)  
  
tpahghu nrd;kjpfspd; jPu;g;gdTf; fhyj;ij Nkk;gLj;Jtjw;fhd je;jpNuhghaq;fs; 

 110 ehl;fSf;F Nky; ePz;l fld; fhyj;jpw;F Ngr;Rthu;j;ij elj;Jjy;. 

 nray;ghl;L tplaq;fspy; toq;Fdu;fSld; ey;y cwitg; NgZjy;. 

 toq;Fdu;fSld; cldb jfty; njhlu;G Kiwia guhkupj;jy;. 

 nrd;kjp nray;ghl;il ikag;gLj;jy;. 

 nrd;kjp nray;ghl;bd; tof;fkhd kjpg;Giufs;. 

   (02 Gs;spfs;) 
 (nkhj;jk; 05 Gs;spfs;) 

 

tpdh 02,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak;; 01 – Kfhikf; fzf;fPl;bd; mwpKfk;> njhlu;Gila fpuak; kw;Wk; ,lu; 
kw;Wk; epr;rakw;w jd;ikapd; fPo; jpl;lkply; 

 
vy;iyf; fpua Kiwapy; tUkhdf; $w;W  

   

    

&.000 

tpw;gid 11,800*&.3,200 

  

37,760 

(-) tpw;gidf; fpuak; myF fpuak; 

  Muk;g ,Ug;G 1,500 1,670 2,505 

 khWk; cw;gj;jpf; fpuak; 12,600 1,670 21,042 

 

gFjp - A 

 

,yq;if fzf;fPl;L njhopEl;gtpayhsh;fs; fofk; 

kl;lk; III guPl;ir – [{iy 2024 

(302) Kfhikj;Jtf; fzf;fPLk;; epjpapaYk; 

gupe;Jiuf;fg;gl;l tpilfs; 

 



 

[Type text] 2     (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 

14,100 

 

23,547 

 ,Wjp ,Ug;G 2,300 1,670 (3,841) 

 tpw;gidf; fpuak; 

   

(19,706) 

    

    18,054  

Vida khWk; fpuak; 

   

- 

gq;fspg;G 

   

18,054 

epiyahdf; fpuak; 

    cw;gj;jp Nke;jiyfs; 

  

8,150 

 cw;gj;jpay;yhj 
Nke;jiyfs; 

  

3,652 (11,802) 

,yhgk; 

   

6,252 

 
 

W 01 – myFf;fhd khWk; cw;gj;jpf; fpuak; 

 

&. 

Neu;g; nghUs;                  940.00  

Neu;f; $yp                  600.00  

khWk; Nke;jiyfs;                  130.00  

 

              1,670.00  

 
(nkhj;jk; 05 Gs;spfs;)  

 
tpdh 03 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 3 – NtWgl;l tifahd ghjPLfs; kw;Wk; ghjPl;bw;F vjpuhd 
jpl;lkply;> fl;Lg;gLj;jy;   

 
(a) 

cw;gj;jpg; ghjPL 

 

2025- myFfs; 

ghjplg;gl;l tpw;gid (218,500+245,000)*1.12 519,120.00 

(+) ,Wjp ,Ug;G 519,120/12*2 86,520.00 

(-) Muk;g ,Ug;G 

 

(22,000.00) 

ghjplg;gl;l cw;gj;jp 

 

583,640.00 

       (03 Gs;spfs;) 
(b)  

 fl;lha jpl;lkply;;;.  

 nray;ghLfis xUq;fpizj;jy;. 

 nraw;ghLfis fye;JiuahLjy;. 

 Kfhikahsu;fis rpwg;ghfr; nray;glj; J}z;Ljy;.  



 

[Type text] 3     (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 fl;Lg;ghl;L Kiwia epWTjy;.  

 nray;jpwid kjpg;gPL nra;jy;.  

 tuTnryTj; jpl;l cupikahsu;fSf;F mjpfhuj;ij xg;gilj;jy;. 

 
   (02 Gs;spfs;) 

 
(nkhj;jk; 05 Gs;spfs;) 

 

tpdh 04 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
 
mj;jpahak;; 01 – Kfhikf; fzf;fPl;bd; mwpKfk;> njhlu;Gila fpuak; kw;Wk; 
,lu; kw;Wk; epr;rakw;w jd;ikapd; fPo; jpl;lkply; 

 

 

    

   &. 

nraw;wpl;l fl;lzk; 

   

3,500,000 

Ntiy mDkjp 

ngWtjw;fhd fpuak; 

  

450,000 

 Kfhikahsu; rk;gsk; 

    cs;ehL cld;gl;l fpuak; 

  ntspehL &.50,000*6 fpoikfs; 300,000 

  Kfhikay;yhNjhu; rk;gsk; 

    cs;ehL cld;gl;l fpuak; 

  

ntspehL 

&.12,500*6 

fpoikfs;*5Nos 375,000 

  Rje;jpu Kfhikahsu; &.120,000*6 fpoikfs; 720,000 

  

   

1,395,000 

 jq;Fkpl trjp &.400,000*2khjq;fs; 

 

800,000 

 Muk;gf;fl;l tUiff;fhd 

nryTfs; kPl;fKbahj nryTfs; - 

 

    

(2,195,000) 

mjpfupj;j ,yhgk; 

   

855,000 

 
,r;nraw;wpl;lk; &.855>000> mjpfupj;j ,yhgj;ij nfhLg;gjhy; ,r;nraw;wpl;lj;ij 

Vw;f gupe;Jiu nra;ag;gLfpd;wJ.  

 
 (05 Gs;spfs;) 

  
gFjp A KbT 

 



 

[Type text] 4     (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

%d;W (03) fl;lha tpdhf;fs;  
(30 Gs;spfs;) 

 

tpdh 05 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 3 – NtWgl;ltifahd ghjPLfs; kw;Wk; ghjPl;bw;F vjpuhd 
jpl;lkply;> fl;Lg;gLj;jy;   

 
 

fhRg; ghjPL Aug-24 Sep-24 Oct-24 

ngWtdTfs; 

   Kw;gzg; ngWtdTfs; -W1 8,600,000 9,000,000 6,500,000 

tl;b tUkhdk; @ 9%pa 63,000 87,000 40,000 

nkhj;j ngWtdTfs; 8,663,000 9,087,000 6,540,000 

    nfhLg;gdTfs; 

   %yg;nghUl;fs; - W2 1,120,000 3,500,000 2,625,000 

khWk; nryTfs; - W3 1,400,000 800,000 550,000 

rk;gsk; 1,800,000 1,800,000 1,800,000 

,ae;jpuk; nfhs;tdT - 8,000,000 - 

Nja;khdj;jpd; gpd; epiyahd 

nryTfs; 1,200,000 1,200,000 1,200,000 

nkhj;j nfhLg;gdTfs; 5,520,000 15,300,000 6,175,000 

Njwpa fhRg; gha;r;ry; 3,143,000 (6,213,000) 365,000 

khj njhlf;fj;jpYs;s kPjp 8,400,000 11,543,000 5,330,000 

khj ,WjpapYs;s kPjp 11,543,000 5,330,000 5,695,000 

 
 

W1 – fl;lisg; 
ngWtdTfs; May-24 Jun-24 Jul-24 Aug-24 Sep-24 Oct-24 

fl;lisapd; 
nkhj;j ngWkjp  14,000,000 8,000,000 5,500,000 

             

3,200,000     10,000,000 7,500,000 

Kw;gzk; 50% 7,000,000 4,000,000 2,750,000 

              

1,600,000 

       

5,000,000 3,750,000 

kPjp 50% - - - 

              

7,000,000 

       

4,000,000 2,750,000 

 

7,000,000 4,000,000 2,750,000 

              

8,600,000 

        

9,000,000 6,500,000 

 
 
 

gpupT - B 



 

[Type text] 5     (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

       W2 - %yg;nghUs; 

nfhLg;gdT Aug-24 Sep-24 Oct-24 

   fl;lisapd; nkhj;j 

ngWkjp  3,200,000 10,000,000 7,500,000 

   fl;lisg;ngWkjpapy; 

35%  1,120,000 3,500,000 2,625,000 

   
       W3 – khWk; nryT May-24 Jun-24 Jul-24 Aug-24 Sep-24 Oct-24 

fl;lisapd; nkhj;j 

ngWkjp  14,000,000 8,000,000 5,500,000 3,200,000 10,000,000 7,500,000 

10% khWk; 

Nke;jiyfs;    1,400,000       800,000 550,000 

    

(14,000,000 

*10%) 

(8,000,000 

*10%) 

(5,500,000 

*10%) 

khWk; Nke;jiyf; 

nfhLg;gdT - - - 

                  

320,000 

                          

1,000,000 750,000 

                                                                                                                     (nkhj;jk; 10 Gs;spfs;)  

tpdh 06 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 5 : %yjd %yq;fs; kw;Wk; %yjdf; fpuak; 

 
(a) 
Ke = D0  (1+g) 

+ g * 100 

  

P0 

Ke = 20*(1+0.12) 
+ 0.12 * 100 

  

122 

     Ke = 30.36% 

   
       (02 Gs;spfs;) 

(b)  
Kp = D0 

* 100 

  

P0 

    Kp = 7 
* 100 

  

46 

    Kp = 15.22% 

  
   (02 Gs;spfs;) 



 

[Type text] 6     (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

(c) 

 
IRR = 

A + 

NPVa (B-A) 

  NPVa 

 

-  NPVb  

        

 

= 8% + 
9.78 12% -

8% 

 
   

9.78 - (5.88) 
 

        

 

= 0.08 + 0.6243 x 0.04 

         

 

= 10.50% 
 

 

     

tUlk; 
fhRg; 

gha;r;ry; 

fopTf; 

fhuzp@ 8% 

epfo;fhy 

ngWkjp 

fopTf; 

fhuzp @12% 

epfo;fhy 

ngWkjp 

0 (103.00) 1.000 (103.00) 1.000 (103.00) 

1-5 11.20 3.993 44.72 3.605 40.37 

5 100.00 0.681 68.06 0.567 56.74 

  

NPV 9.78 

 

(5.88) 

(03 Gs;spfs;) 
(d) 

%yq;fs; 

re;ijg;   

ngWkjp  

&.kpy;ypad; 

COC % COC &. 

rhjhuz gq;Ffs; 305.00 30.36% 92.60 

Kd;Dupikg; 

gq;Ffs; 184.00 15.22% 28.00 

jdpr;rq;fs; 216.30 10.50% 22.71 

 

705.30 

 

143.31 

    WACC = 143.31 X 100 = 20.32% 

 

705.30 
  

 
(03 Gs;spfs;) 

 
(nkhj;jk; 10 Gs;spfs;)  

 
 
 
 
 



 

[Type text] 7     (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

tpdh 07 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 1 Kfhikf; fzf;fPl;bd; mwpKfk;> njhlu;Gila fpuak; kw;Wk; ,lu; 
kw;Wk; epr;rakw;w jd;ikapd; fPo; jpl;lkply; 

 
 (a) 

 

rpwpa rhjhuz ngupa 

tpw;gid tpiy 4,600.00 8,500.00 18,000.00 

(-) khWk; fpuak; 

   %yg; nghUs; A 2,200.00 4,400.00 8,800.00 

%yg; nghUs; B 1,500.00 3,000.00 6,000.00 

Copak; 50.00 80.00 120.00 

khWk; Nke;jiyfs; 334.00 435.00 1,300.00 

nkhj;j khWk; fpuak; (4,084.00) (7,915.00) (16,220.00) 

gq;fspg;G 516.00 585.00 1,780.00 

%yg; nghUs; A 2.00 4.00 8.00 

 

2,200/1,100 4,400/1,100 8,800/1,100 

gq;fspg;G %yg; nghUs A -Kg 258.00 146.25 222.50 

epiy 1 3 2 

 

cw;gj;jp cw;gj;jp jpl;lk; 
myFf;fhd %yg; 

nghUs; A 
nkhj;jk; 

rpwpa 4,000.00 2.00 8,000.00 

rhjhuz 1,500.00 8.00 12,000.00 

ngupa 4,750.00 4.00 19,000.00 

   

39,000.00 

 

       (07 Gs;spfs;) 
(b)  

 

&. 

%yg;nghUs;-A ,d;> Kg xd;Wf;fhd nfhs;tdT tpiy 1,100.00 

Kg xd;Wf;fhd gq;fspg;G – rhjhuz cw;gj;jp 146.25 

 

1,246.25 

ill; ypkpnll; xU fpNyhfpuhk; nghUs; A f;F mjpfgl;r tpiyahd &. 146.25 f;F 
$Ljy; njhifia nrYj;j Ntz;Lk;> Vnddpy; ,J fl;Lg;gLj;Jk; fhuzp > 

%yg;nghUs; A ,d; xU Nkyjpf fpNyhfpuhkpw;fhd epWtdk; cUthf;Fk; Nkyjpf 
gq;fspg;ghFk;. 

  (03 Gs;spfs;) 
 

(nkhj;jk; 10 Gs;spfs;) 
 

 
 

 

gpupT B KbT 
 



 

[Type text] 8     (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

 

%d;W (03) fl;lha tpdhf;fs;  
(50 Gs;spfs;) 
 

 

tpdh 08 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  

mj;jpahak; 2 – nraw;ghl;L kw;Wk; bIpl;ly; fpuatpay; 
(a) 

  %yg; nghUs; $yp Nke;jiyfs; nkhj;jk; 

KbTg; nghUs;  
             81,400                81,400           81,400                    -    

,Wjp - WIP     23,000        11,500  5,750           -    

mrhjhuz el;lk; 
       2,200  2,200  2,200          -    

  106,600  95,100  89,350    

fpuak; :         

   cs;sPL 
42,200,000  15,400,000  12,700,000  70,300,000  

    Muk;g WIP 5,783,800  1,337,600  523,800  7,645,200  

    Nrjg; ngWkjp 
(760,000) -                -    (760,000) 

  47,223,800  16,737,600  13,223,800  77,185,200  

  443  176  148      767  

,Wjp - WIP 10,189,000  2,024,000  851,000  13,064,000  

(06 Gs;spfs;) 
                                                                                                                                                                  
(b)  

nraw;ghl;Lf; fzf;F - 3  

tpguk; myFfs; ngWkjp tpguk; myFfs; ngWkjp 

Muk;g ,Ug;G 14,600 7,645,200 
KbTg;nghUs; 
ntspaPL 81,400 62,433,800 

Ne.nghUs; - P 2 100,000 42,200,000 rhjhuz el;lk; 8,000 760,000 

Ne.$yp - 15,400,000 
mrhjhuz 
el;lk; 2,200 1,687,400 

khWk; 
Nke;jiyfs; - 12,700,000 WIP B/F 23,000 13,064,000 

  114,600 77,945,200   114,600 77,945,200 

WIP C/F 23,000 13,064,000       
(09 Gs;spfs;) 

 
 (nkhj;jk; 15 Gs;spfs;) 

 
 
 
 
 

 

gpupT - C 
 



 

[Type text] 9     (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

tpdh 09 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
mj;jpahak; 6 - %yjd KjyPl;L kjpg;gPL 

 (a) 
            (&.'000) 

  0 1 2 3 4 5 

KjyPL 

        

(65,000) 

                     

-    

                        

-    

                        

-    

                        

-    

                  

5,000  

njhopw;gL %yjdk; 

           

(6,000) 

                     

-    

                        

-    

                        

-    

                        

-    

                  

6,000  

tpw;gid (W-1) 

                   

-    

            

80,000  

             

129,600  

             

186,624  

             

125,970  

             

108,836  

khWq; fpuak; (W-1) 

                   

-    

          

(40,000) 

              

(64,800) 

             

(93,312) 

              

(62,985) 

              

(54,420) 

epiyahdf; fpuak; 

                   

-    

            

(9,500) 

                

(9,500) 

               

(9,500) 

                

(9,500) 

                

(9,500) 

re;ijg;gLj;jy; fpuak; 

                   

-    

            

(8,000) 

                        

-    

                        

-    

                        

-    

                        

-    

tpw;gidj; juF  

 -  

            

(4,800) 

                

(7,776) 

             

(11,197) 

                

(7,558) 

                

(6,530) 

(80,000 x 

6%) 

(129,000 x 

6%) 

(186,624 x 

6%) 

(125,970 x 

6%) 

(108,836 x 

6%) 

tUkhd tup (W-2) 

                   

-    

                

(435) 

                

(9,382) 

             

(16,909) 

                

(8,903) 

              

(13,016) 

  

        

(71,000) 17,265 38,142 55,706 37,024 36,370 

15%  fopTf; fhuzp 

                    

1  

              

0.869  

                 

0.756  

                 

0.658  

                 

0.572  

                 

0.497  

Njwpa epfo;fhy 
ngWkjp  

        

(71,000) 15,003 28,835 36,654 21,178 18,076 

NPV = 48,746 

 
nra;Kiwfs;:   

      

(W-1) tpw;gid kw;Wk; khWk; fpuak;   

      

tUlk; tpw;gid khWk; fpuak; 

1 80,000 (4,000 x 20) 40,000 (4,000 x 10) 

2 129,600 (6,000 x 21.6) 64,800 (6,000 x 10.8) 

3 186,624 (8,000 x 23.328) 93,312 (8,000 x 11.664) 

4 125,970 (5,000 x 25.194) 62,985 (5,000 x 12.597) 

5 108,836 (4,000 x 27,209) 54,420 (4,000 x 13.605) 

 
 



 

[Type text] 10     (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

(W-2) tUkhd tup           

  1 2 3 4 5 

Nja;khdj;jpw;F 

Kd;duhd ,yhgk;  17,700 47,524 72,615 45,927 38,386 

tpw;gidj; njhif  0 0 0 0 5,000 

%yjdf; nfHLg;gdT  -16250 -16250 -16250 -16250 0 

  1,450 31,274 56,365 29,677 43,386 

30% @ tup 435 9,382 16,909 8,903 13,016 

(13 Gs;spfs;) 
 

 

(b)  
Nkw;gb fzpg;gPl;bd; gb &. 48>746> rhjfkhd Njwpa epfo;fhy ngWkjpia 

nfhz;bUg;gjhy; Nkw;gb khw;wj;jpid Vw;f gupe;Jiuf;fg;gLfpwJ. 

 
(02 Gs;spfs;) 

 (nkhj;j 15 Gs;spfs;) 
 

tpdh 10 ,w;fhd gupe;Jiuf;fg;gl;l tpilfs; :  
      (A) 

mj;jpahak; 4 – epakf; fpuak; kw;Wk; Kuz; Ma;T 
 
 

    (a) 
 

 Neu;g; nghUs; tpiy Kuz;   = cz;ik myFfs; (epak tpiy – cz;ik tpiy) 
   

 Neu;g; nghUs; A     = 114,800 (400 – 365) 

            = 4,018,000 rh 
 

      Neu;g; nghUs; B    = 8,648 (2,000 – 2,082) 

            = 709,136 gh 

            = 4,018,000 rh – 709,136 gh 

                        = 3,308,864 rh 
 

(02 Gs;spfs;) 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

[Type text] 11     (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

  (b) 
 

Neu;g; nghUs; fyit 
Kuz; 

= Ne.ngh epak tpiy x [(nkhj;j cz;ik %yg;nghUs; 

ghtid x epak fyit) – (nkhj;j cz;ik 

%yg;nghUs; ghtid x cz;ikf; fyit) 

 
A = 400 (123,448 x 

3

3.25
− 123,448 x 

114,800

123,448
) 

 = 400 (113,952 – 114,800) 

 = 339,200 rh 

 
 

B = 2,000 (123,448 x 
0.25

3.25
− 123,448 x 

8,648

123,448
) 

 = 2,000 (9,496 – 8,648) 

 = 1,696,000 gh 

 = 339,200 – 1,696,000 

 = 1,356,800 gh 

(03 Gs;spfs;) 
  (c) 

 
 

Neu;g; nghUs; tpisT 
Kuz; 

= Ne.ngh epak tpiy x [(nkhj;j epak %yg;nghUs; 

ghtid x epak fyit) – (nkhj;j cz;ik 

%yg;nghUs; ghtid x epak fyit) 
 
 

A = 400 (122,200 x 
3

3.25
− 123,448 x 

3

3.25
) 

 = 400 (112,800 – 113,952) 

 = 460,800 gh 

 
 

B = 2,000 (122,200 x 
0.25

3.25
− 123,448 x 

0.25

3.25
) 

 = 2,000 (9,400 – 9,496) 

 = 192,000 gh 

 = 460,800 gh + 192,000 gh 

 = 652,800 gh 

(03 Gs;spfs;) 
 
 
 



 

[Type text] 12     (302) Kfhik fzf;fPLk;; epjpapaYk; 
  
302/MAF 
 

(d) 
 
Neu;f; $yp tPj Kuz; = cz;ik kzp (epak tpiy – cz;ik tpiy) 

 = 27,400 (1,400-1,420) 

 = 548,000 gh 

(02 Gs;spfs;) 
 

(e) 
 
 

Neu;f; $yp tpidj;jpwd; 

Kuz; 

= epak tPjk; (epak kzp – cz;ik Neuk;) 

 = 1,400 (28,200-27,400) 

 = 1,120,000 rh 

 

(02 Gs;spfs;) 
 (f) 
 
epiyahd Nke;jiyr; 

nryT Kuz; 

= ghjPl;L ep.Nke;jiy – cz;ik ep.Nke;jiy 

 = 6,425,000 – 6,516,800 

 = 91,800 gh 

(02 Gs;spfs;) 
 

(B) 
mj;jpahak; 1 Kfhikf; fzf;fPl;bd; mwpKfk;> njhlu;Gila fpuak; kw;Wk; ,lu; 
kw;Wk; epr;rakw;w jd;ikapd; fPo; jpl;lkply; 

 

 

 cw;gj;jp A cw;gj;jp B cw;gj;jp C 
tpw;gid tpiy 180 240 260 

khWk; fpuak; (129) (173) (203) 

gq;fspg;G 51 67 57 

 

PV tpfpjk; = 

(51 x 240) + (67 x 180) + (57 x 180) 

X 100% (180 x 240) + (240 x 180) + (260 x 

180) 

    

 
= 

12,240 + 12,060 + 10,260 
X 100% 

 

43,200 + 43,200 + 46,800 

    

 

= 34,560 X 100% 

  133,200  

          =  25.9% 
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,yhg el;lkw;w Gs;sp 
(tpw;gidapy;) 

= 

(15 x 240) + (22 x 180) + (30 x 

180) 

0.2596 

   

 
= 

3,600 + 3,960 + 5,400 

 

0.2596 

   

 

 

= 

 

12,960 

 = 

0.2596 

 

&. 49,923,000 

 
 

 

cw;gj;jp A                                 =   
𝟒𝟗,𝟗𝟐𝟑 𝒙  

𝟒𝟑,𝟐𝟎𝟎

𝟏𝟑𝟑,𝟐𝟎𝟎

𝟏𝟖𝟎
  

 
                                                     = 89,951 myFfs;  
 
 

cw;gj;jp B                                 =   
𝟒𝟗,𝟗𝟐𝟑 𝒙  

𝟒𝟑,𝟐𝟎𝟎

𝟏𝟑𝟑,𝟐𝟎𝟎

𝟐𝟒𝟎
  

 
                                                     = 67,464 myFfs; 
 
 

cw;gj;jp C                                 =   
𝟒𝟗,𝟗𝟐𝟑 𝒙  

𝟒𝟔,𝟖𝟎𝟎

𝟏𝟑𝟑,𝟐𝟎𝟎

𝟐𝟔𝟎
  

 
                                                    = 67,464 myFfs;  
 

 
(06 Gs;spfs;) 

 
(nkhj;jk;  20 Gs;spfs;) 

 

 
 
 
 
 
 
 
 
 

gpupT C KbT 
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Notice:  

These answers complied and issued by the Education and Training Division of AAT Sri Lanka 
constitute part and parcel of study material for AAT students.  
These should be understood as Suggested Answers to question set at AAT Examinations and should 
not be construed as the “Only” answers, or, for that matter even as “Model Answers”. The 
fundamental objective of this publication is to add completeness to its series of study texts, designs 
especially for the benefit of those students who are engaged in self-studies. These are intended to 
assist them with the exploration of the relevant subject matter and further enhance their 

understanding as well as stay relevant in the art of answering questions at examination level.  
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